£ xample

cor has mass 2000 ka
REAR MEEL DRIvE 3
CALCULATE aceln f rear wreas ""3"'
ARE SLiPPin G B FRONT RoTATE FReely T

Coeft g kineti {ricko My =025

o o e
D / Q W
Ré Free Bopy Diarant ‘-
W= mg=@anXs-81)= (962 kN ‘m
Fo= pu Ne SR =Ma, = m(o)
a—
+fZF=o = Mr+Ag-W=0 @

(=3
w2 Fx=Mae, & ucNs = 2000 O, ®

@ZN&-.:O = -5 Na+ 0-35Ns - (0-3)/&:\!: =0 @_)

Substitute @ into R Lo Me NA

= - 1+ 25 [W-Na]-f- o-7?SNg - O-S/u-JB =0

= Npg= 135w _ Q-28)GaX9-80) . [2F4ON
1+2S +0-35 03 M 254075 -©-3)o-15)

Ao, = Mn N8 _ (0-2sX 12 740) = [-59 ms™

m ( 2000)
CF,
Wi




